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157 circles in an isosceles right triangle
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160 circles in an isosceles right triangle
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163 circles in an isosceles right triangle
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N = 166

166 circles in an isosceles right triangle
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N = 158

158 circles in an isosceles right triangle
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161 circles in an isosceles right triangle
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164 circles in an isosceles right triangle
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167 circles in an isosceles right triangle
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159 circles in an isosceles right triangle
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162 circles in an isosceles right triangle

Y
55

ORO)
X
N ()
%

)

PO

7

&)
>
A,

5
e
B

O
“’*ﬂ“

c2
%

N

A

T OX
=9,
2
=
x
B
P
¥

L

radius =  0.028444629621  density = 0.823560387420 | Egwr:
tio = 35156021130148 contacts = 363 Wi

N = 165

165 circles in an isosceles right triangle
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168 circles in an isosceles right triangle
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